FC-T1

FC-T1(TEC10E50E-HT)

fihhg & 1F/38 EBRK pi #iE. cVEE kx| ECSA#®sm| jkm0.85| jksp0.85| jkm0.90| ksp,0.90)
uglcm2 ug/cm2 BB BERE °C V vs RHE | %, B#| m2/g-Pt] IE, & | A/g-Pt |uAlcm2-Pt| A/g-Pt | uA/cm2-Pt
A 29.75 11.76/0.1 M 1@ 30[1.2,1.0] & 34.4] 1E 384 1115 104 302
29.75 11.76/0.1 M & 30(1.2,1.0] & 32.8] IE 415 1265 105 320
10f005wt% 251 L cm-2[0.1 M 38 25| 1.2,1.2| B 36.3] IE 546 1500 150 414
10f005wt% 254 L cm-2[0.1 M 3B 25| 1.2,1.2| B 37.5] 1E 488 1300 133 356
B 10f 005wt 254 L cm-2[0.1 M 3B 25| 1.2,1.2| B% 28.4| 1E 429 1510 120 424
FEfE - 341] IE 488| 1440 1347 398
32|19 g cm-2(0.1 M 18 25|11.2,1.2| % 39.6] 1E 344 868 90.7 229
32|19 gcm-2/0.1 M i@ 25(1.2,1.2]| | 438] IE 449 1020 137 312
c 14.1] 0.50uL/cm2]0.1 M ;8 25| 1.0,1.2| B3 37.6] I1E 621 1650 152 407
14.1] 0.50uL/cm2]0.1 M & 25| 1.0,1.2| B3 39.9] IE 630f 1578 164 410
D
E
.=| CV-30°C 1E 232 660
= 0.2%12.5uL/cm2 & )
F ||11ug-C/cm2 uL/cm2(0.1 M 18 ORR-60°C 1.0,10] 0% | 348 T 372 250 7 o2
G
H 200ug/cm2[0.025ul /cm2[0.5 M & 35|1.2,12 | B 326| & 21.1 64.7 4.14 12.7
200ug/cm2[0.025ul/cm2{0.5 M 35[1.2,1.2 | AR 3611 & 20.5 56.8 4.23 11.7
. 1376] 2563 291 541
- g 1
I ||20ug-C/cm2 9ug/cm2(0.1 M 18 25112,12 | % 537 IE 626) (1166) (183)| (342)
J
= EIBZRILER - L7V vs
%?Lﬁ;;ﬁr: fggﬁjfﬂ El)5M B 60| Av/aszsos | 44 | = | 47 40
L
5.6ug—C/cm2 0.05um|[0.1 M ;& 25|1.2,12 | B 32.3] IE 232 717 65.5 203
5.6ug—C/cm2 0.05um|0.1 M ;& 2511.2,1.2 58 38.5] 1E 283 736 80.3 209
M || 16ug—-C/cm2 0.05um|0.1 M ;& 2511.2,1.2 5 40] 1E 335 839 97 242
16ug-C/cm2 0.05um|{0.1 M 8 25(1.2,1.2 | Bx 3 96 231
16ug—C/cm2 0.05um|{0.1 M 18 25|1.2,1.2 | B% 1E 78 199
N
[¢]
202ug/cm2| 0.57uL/cm2]0.5 M & 60]1.0.10 | Bi | 428] &
p 202ug/cm2| 0.57ul/cm2(0.5 M 60]1.0. 1.0 i 67.1] &
202ug/cm2| 0.57ul/cm2[0.5 M & 60[{1.0.1.0 5 323 &
202ug/cm2| 0.57ul/cm2|0.5 M ff 60/10.1.0 [ R [ 407] &
Q 25ug/cm20.005uL/cm2| 0.1M %% 28|1.1,1.1 | Bx 70.7] 1E 769| 1087
R 51ug/cm2).05%, 25ul/cm2(0.5 M f& 60(1.2,12 | & 133] & 5.79 41.3| 0818 6.15
S
N 1E 298 823 122 337
’ ] ] & . ’
T || 17.3ug/cm2[0.203ulL/cm2|0.1 M 1& 60 1.2,1.2| B#| 36.3 & 18 823 222 613
U

K-LZOvk&Y
X Ik=(1d-1)/(1d-1)
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